BERXFEEIHIRR (FR30F1AXZHS)

# | A | A 24 XHRS | £%E (M)
30 1 5|t RER EMRHELRIR RS =& 5,000
30[ 1 8| R i RIL/NERPTABF K ESIHBEIFEDEL =& 6,000
[ 1| BEIERHKAFHKEDBHEBRRE =& 8,000
[ 1| VBEIEREMERILZIBAEFLESHESR =& 5,000
[ 1| 16|HERKEHBEFERRS =& 6,000
[ 1| 17|EIERHSESSHERRS =& 8,000
[ 1| 1B|HIERFLVFEZEHBEHETHRES RE 3,000
30 1| 20|HEEMEREBREEZUEXARIZOFFRESRE-FEREAR =& 5,000
[ 1| 2|BIEIARRIBEFESR RE 4,500
[ 1| 2WBFIRHBERKBHR= =& 10,000
[ 1| 2|RIEREREEFFEAIZEE RE 5,000
[ 1| 26|HIERFEFREZXBFREBEEZNESR =& 6,000

1A9 &5 1244 71,500

(X X5 ET] X5 HHE) | £BM)

=& 12 71,500

HmE 0 0

F 0 0

- £ER 0 0

D 0 0

1An&E 1244 71,500




HERZBFESHINR (ER30F2AZH &)

F A E-£ 2 XHXS | £ (M)
30 ARt RFERK TR ERIORAFLEIHER =& 10,000
30 BlRIZERMEESRaR BRERKRBBERERELZHIY =E 10,000
30 17|RNFECARAZRIHE Fn 10,000

2R EE 3+ 30,000

[(XH X5 Et] X5 HHE) | 2FEH)

=& 2 20,000

FLE 0 0

=3 ] 1 10,000

e -ETER 0 0

Z Dt 0 0

2AREEt 3 30,000




HERZFRESHINR (FER0FEIAZH )

£ | A | A8 =4 XHXS | £ (M)
30 3| 20|HIERKBEHREIL7TOBFELESNESR 2E 8,000
SANEE ks 8,000

(X HX5E] X5 HHE) | 2%
=& 1 8,000

FLE 0 0

FH 0 0

TEEw- £ TR 0 0

Z D 0 0

SAREEt 144 8,000




FERIXEETHKR (ERH30E4AZHS)

F A =4 XHXS | £ (M)
30 26| 2 XRER 2 BRE =& 6,000
4R EE ks 6,000

(X HX5E] X5 B | €%
=& 1 6,000
FLE 0 0
FH 0 0
TEEm - £ R 0 0
Z D 0 0
4R &5 144 6,000




FERXEETHKR (ERH30ES AXZHS)

A | H =4 XHXS | £ (M)
30| 5| 2WBRUIRHIRESREBHRE =& 5,000
30[ 5| SMBIUERIFPERPTARGZESEEDNE =& 5,000
30 5| SEIERI/NERPTAESIHEREE DR =& 2,000

5AREE 3 12,000

[(XHX5E] X5 HHE) | 2FEH)
=& 3 12,000

FLE 0 0

FH 0 0

e -ETER 0 0

ZDfih 0 0
5AREEt 3 12,000




FERZBFESHIR (EH30F6 AXHS)

A | H =4 XHXS | £ (M)
30[ 6] NRBIERBRATEHRREXBORKAIMA+RAFESHH =& 3,000
6A &G ks 3,000

[(XHX5E] X5 HHE) | 2FEH)
=& 1 3,000

FLE 0 0

FH 0 0

TEEH- £ TR 0 0

Z D 0 0

6A R EEt 144 3,000




BFERXEETHKR (EH30E7AZHS)

A | H E-£ 2 XHXS | £ (M)
[ 7| 19HIER=MMEEHKE =& 5,000
[ 7| 26/%FAERBLERSEBHR 2E 10,000

1A EEt 24 15,000

[(XH X5 Et] X5 HHE) | 2%
=& 2 15,000

FLE 0 0

FH 0 0

TEEw- £ TR 0 0

Z Dt 0 0

TAN AR 2% 15,000




FERXBFETHRR CE30E8AXZHA)

A | B =4 THESS | €% )
8ANEET o 0
[ZHER7E] X5 HH ) | €M)
=& 0 0
g 0 0
F8 0 0
TEEm- £ 0 0
Z Dt 0 0
8H &5t 04 0




FERXBFETHRR CE30FE9AXZTHA)

A | B =4 THESS | €% )
IR EET o 0
[ZHER7E] X5 HH ) | €M)
=& 0 0
g 0 0
F8 0 0
TEEm- £ 0 0
Z Dt 0 0
9B nEEt 04 0




BLERXBFEETHKR (EHR30E10AZHS)

£ | A | B =4 XHXS | £ (M)
30[ 10| 20|BIAERIAFKI/NMNERBEKIOBELESNESR =& 5,000
108 &&t 144 5,000

(X H X5 ET] X5 HBHHE) | £%BM)
=& 1 5,000

AN 0 0

FH 0 0

TEEg- £ TR 0 0

ZDh 0 0

1087 &&t ki 9,000




FERZEBEIHRR (FR30FE11AXZHS)

£ | A| A8 =4 XHXS | £ (M)
[ 11| 16|ty Hh—EBORFLESXH-NER =& 8,000
[ 11| 22|BIER$HEEKEHGEENER 2E 5,000
1MAR&E 24 13,000

[(XHX5E] X5 B | £%E M)
=& 2 13,000

FLE 0 0

FH 0 0

TEEw- £ TR 0 0

ZDfih 0 0

"MAREE 21 13,000




FERXBFEETHKR CEFR30E12AZHS)

£ | A| A8 =4 XHXS | £ (M)
30 12 8| M XLk HE = /NERER OB FESNESR =& 3,500
30[ 12| 25|REAFRBCARARIHEE Fa 10,000
127 &&t 24 13,500

[(XHX5E] X5 HHE) | 2%
=& 1 3,500

FLE 0 0

FH 1 10,000

TEEw- £ TR 0 0

ZDfih 0 0

12An &%t 21 13,500




